SATELLITE DISH - 1.2 METRE

PRODUCT CODE: SDJ1/2 (B, C1)

25

31
19 30

3

REVISION - SDJ1/2:04032016

26

/»</

v

\ ¢

\_X S\

AUSTRALIA

*#’k
PAJeNSA
16

15°~90° |

LR
N 19 © #6 Nylon Washer 2
7 18 & Mounting Clamp 1
20 17] € |m0ew92 U bolt 2
— 16| @ M6 hex nut 2
ead [Max Tightening torques
6 B8NM 90Kgf cn 15 \ Elevation Adjust Torold Lock 1
Mo | 2LiNn  [eo0grcn | |14] N\ |Adlusting screw 1
M10 44N 450Kgf.cm 13 C——— [¢12.7%t0.8%L116 Bush 1
remarkilNm=10.197Kgf.cm 12 @ MI0 spring Washer 7
33] % 40nm LNBF Clamp Holder 11 [ © M0 Vasher 18
R N 40mm LNBF Clanp 11 [10] @ M0 hex nut 15
31 /" Feedhorn(LNB) Supporting Rods | 2 9 IO BE——=4M10%150 hex-head cap screw 3
30 LNB Arm 1 8 (Bzzzn  |M10%20 round-heod screw 8
29 g Azimuth Plate 2 7 6 M8 flange nut 6
28 m Pole Adapter 1 6| (Bzzm |M8%20 round-head screw 6
27| Z=—=—=| Supporting Bracket Truss 2 S @ pvc cover e
3onm | |26 Q Supporting Bracket 1 4 @  [¥6 hex nut 8
o5 ) Reflector 1 3| M~ [M6%35 hex-head cop screw w/w | 2
2| @Ok |[M6¥12 hex-head cap screw w/sw/w| S
21 © M6 washer 2 1| @Bz |M6%20 hex-cross-head cop screw | 2
20 (©) #8 Nylon Washer 6 NO| ITEM DESCRIPTION QTY




